Code:

1 import numpy as np

2 from timeit import default_timer as timer
3

4 def VectorAdd(a,b,c):

5 for 1 in range(a.size):
= c[i] = a[i] + b[i]
¥
2 def main():
9 N = 3Zeaaaea
18
11 A = np.ones(N, dtype=np.float32)
12 B = np.ones(N, dtype=np.flocat32)
13 € = np.zeros(N, dtype=np.float32)
14
15 start=timer()
16 VectorAdd(&, B, C)
17 vectoradd_time = timer() - start
18
19 print{"C[:5] = " + str{C[:5]))
28 print("C[:5] = " + str(C[:-5]))
21
22 print({“VectorAdd tock ¥f seconds™ ¥ vectoradd _time)
23
24 main()|

Results:

C[:5] = 5. 2. 2. 2.1

L2002, ..., 2. 2. 2.]

[ 2
C[:5] = 2
d took 7.991139 seconds

Vectorad



New Code:

1 import numpy as np

2 from timeit import default timer as timer

3 from numba import vectorize

4

5 [ivectorize(["float32(float32, float32)"], target='cuda')
& def VectorAdd(a,b):

7 return a + b
3
o def main():
1e N = 32860888
11
12 A = np.ones(N, dtype=np.float32)
13 B = np.ones(N, dtype=np.float32)
14 C = np.zeros(N, dtype=np.flocat32)
15
16 start=timer()
17 € = VectorAdd(A, B)
18 vectoradd _time = timer() - start
19
29 print("C[:5] = " + str(C[:5]))
21 print("C[:5] = " + str(C[:-5]))
22
23 print("VectorAdd tock ¥f seconds™ ¥ vectoradd time)
24
25 main()

Results:

c[:5] = ‘

[ 2. 2. 2. 2. 2.]
c[:5] =[ 2. 2. 2. ..., 2. 2. 2.]
VectorAdd took ©.612848 seconds
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